Bull. Korean Math. Soc.  ${\bf 50}$  (2013), No. 6, pp. 1847–1854 http://dx.doi.org/10.4134/BKMS.2013.50.6.1847

# GLOBAL ASYMPTOTIC STABILITY OF POSITIVE STEADY STATES OF AN *n*-DIMENSIONAL RATIO-DEPENDENT PREDATOR-PREY SYSTEM WITH DIFFUSION

## Jun Zhou

ABSTRACT. The main concern of this paper is to study the dynamics of an n-dimensional ratio-dependent predator-prey system with diffusion. We study the dissipativeness, persistence of the system and it is shown that the unique positive constant steady state is globally asymptotically stable under some assumptions.

## 1. Introduction

There is a growing biological and physiological evidence [1, 3, 4, 7] that in some situations, especially when the predator has to search for food and therefore has to share or compete for food, a more suitable general predatorprey theory should be based on the so-called ratio-dependent theory, which can be roughly stated as the per capita predator growth rate being a function of ratio of prey to predator abundance. Denote by N(t) and P(t) the population densities of prey and predator at time t, respectively. Then the ratio-dependent type predator-prey model with Michaelis-Menten type functional response is given as follows (after nondimensionalization) [2]:

$$\begin{pmatrix} \frac{dN}{dt} = N(1 - kN) - \frac{\alpha NP}{N + \alpha P}, & t > 0, \\ \frac{dP}{dt} = -aP + \frac{\alpha NP}{N + \alpha P}, & t > 0, \end{cases}$$

where  $k, \alpha$ , and a are positive constants.

Consider the following n-dimensional ratio-dependent ecological system, in which n different predator species (the *i*-th predator density at time t is denoted

 $\bigodot 2013$  The Korean Mathematical Society

Received March 5, 2012.

<sup>2010</sup> Mathematics Subject Classification. 35K57, 92D25.

 $Key\ words\ and\ phrases.$  ratio-dependent response function, global asymptotic stability, iteration method.

Partially supported by NSFC grant 11201380, the Fundamental Research Funds for the Central Universities grant XDJK2012B007 and Doctor Fund of Southwest University grant SWU111021.

by  $P_i(t)$ , i = 1, 2, ..., n, respectively) are competing with a single prey species (the density of prey at time t is denoted by N(t)):

$$\begin{cases} \frac{dN}{dt} = N(1-kN) - \frac{N(\sum_{i=1}^{n} \alpha_i P_i)}{N + \sum_{i=1}^{n} \alpha_i P_i}, \quad t > 0, \\ \frac{dP_i}{dt} = -a_i P_i + \frac{\alpha_i N P_i}{N + \alpha_i P_i}, \quad t > 0, \quad i = 1, 2, \dots, n \end{cases}$$

where  $k, \alpha_i, a_i \ (i = 1, 2, ..., n)$  are positive constants.

Predators and preys are usually abundant in space with different densities at different positions and they are diffusive. Several papers have focused on the effect of diffusion which plays a crucial role in permanence and stability of population (see [5, 6, 9, 10, 14, 15, 16, 19, 20, 21] and the references therein).

Based on the above reasons, in this paper, we consider an n-dimensional ratio-dependent predator-prey system with diffusion as follows:

(1.1) 
$$\begin{cases} \frac{\partial U}{\partial t}(x,t) - D\Delta U(x,t) = F(U(x,t)) & \text{in } \Omega \times (0,\infty) \\ \frac{\partial U}{\partial \nu} = (0,\dots,0) & \text{on } \partial\Omega \times (0,\infty), \\ U(x,0) = \varphi(x) = (\varphi_0(x),\dots,\varphi_n(x)) & \text{in } \bar{\Omega}, \end{cases}$$

where  $F = (f_0, f_1, \dots, f_n), U = (u, v_1, \dots, v_n), D = \text{diag}[d_0, d_1, \dots, d_n]$  and  $u(\sum_{i=1}^n \alpha_i v_i) = 2 \begin{pmatrix} 1 \\ 1 \end{pmatrix}$ 

(1.2) 
$$f_0 = u(1 - ku) - \frac{u(\sum_{i=1}^n \alpha_i v_i)}{u + \sum_{i=1}^n \alpha_i v_i} = u^2 \left(\frac{1}{u + \sum_{i=1}^n \alpha_i v_i} - k\right)$$

(1.3) 
$$f_i = -a_i v_i + \frac{\alpha_i v_i u}{\alpha_i v_i + u}, \ i = 1, \dots, n,$$

and  $\Omega$  is a bounded domain in  $\mathbb{R}^N$ ,  $N \geq 1$ , with smooth boundary  $\partial\Omega$ ,  $\frac{\partial}{\partial\nu}$  is the outward directional normal derivative to  $\partial\Omega$ , the parameters  $k, d_0, d_i, \alpha_i, a_i$  (i = 0)  $1, \ldots, n$ ) are positive constants, and  $\varphi_i(x)$   $(i = 0, 1, \ldots, n)$  are continuous nonnegative and nontrivial functions. Furthermore, we assume the parameters satisfy

- (H1)  $\sum_{i=1}^{n} \frac{\alpha_i}{a_i} > n-1$  and  $a_i < \alpha_i$   $(i = 1, \dots, n)$ . (H2)  $\sum_{i=1}^{n} \frac{\alpha_i}{a_i} < 1+n$  and  $a_i < \alpha_i$   $(i = 1, \dots, n)$ .

It is easy to see that problem (1.1) has a unique positive constant steady state  $\tilde{U} = (\tilde{u}, \tilde{v_1}, \dots, \tilde{v_n})$  if and only if (H1) holds and

(1.4) 
$$\tilde{u} = \frac{1}{k\left(1 - n + \sum_{i=1}^{n} \frac{\alpha_i}{a_i}\right)}, \quad \tilde{v}_i = \frac{(\alpha_i - a_i)}{a_i \alpha_i} \tilde{u}, \quad i = 1, \dots, n.$$

In recent years, the study of the dynamics of predator-prey system attracts a lot of authors' interests (see [8, 11, 12, 13, 17] and reference therein). The main goal of this paper is to study dissipativeness, persistence of the system (1.1) and globally asymptotical stability of the positive constant steady-state  $\tilde{U}$ . Our main results are:

- (1) The system (1.1) is dissipative and persistent if (H2) holds.
- (2) The constant steady-state  $\tilde{U}$  is globally asymptotically stable if (H1) and (H2) hold.

The organization of this paper is as follows. In Section 2, we study dissipativeness and persistence and in Section 3, we study the globally asymptotical stability of  $\tilde{U}$ .

## 2. Dissipativeness and persistence of system (1.1)

The main concern of this section is dissipativeness and persistence of system (1.1) and the main result is as follows.

**Theorem 2.1.** Assume (H2) holds and let  $(u, v_1, \ldots, v_n)$  be a solution of problem (1.1). Then

(2.1) 
$$\frac{1}{k} \left( 1 + n - \sum_{i=1}^{n} \frac{\alpha_i}{a_i} \right) \leq \liminf_{t \to +\infty} \min_{\bar{\Omega}} u(\cdot, t) \leq u(x, t)$$
$$\leq \limsup_{t \to +\infty} \max_{\bar{\Omega}} u(\cdot, t) \leq \frac{1}{k},$$

(2.2) 
$$\frac{(\alpha_i - a_i)}{ka_i \alpha_i} \left( 1 + n - \sum_{i=1}^n \frac{\alpha_i}{a_i} \right) \leq \liminf_{t \to +\infty} \min_{\bar{\Omega}} v_i(\cdot, t) \leq v_i(x, t)$$
$$\leq \limsup_{t \to +\infty} \max_{\bar{\Omega}} v_i(\cdot, t) \leq \frac{(\alpha_i - a_i)}{ka_i \alpha_i}$$

where i = 1, ..., n.

In order to prove the above results, we first introduce the following lemma [17, 18].

**Lemma 2.2.** Assume  $f(s) \in C^1([0, +\infty)), d > 0, \beta \ge 0, T \in [0, +\infty)$  are constants, and  $w \in C^{2,1}(\Omega \times (T, +\infty)) \cap C^{1,0}(\overline{\Omega} \times [T, +\infty))$  is positive. Then we have

(1) If w satisfies

$$\begin{cases} \frac{\partial w}{\partial t} - d\Delta w \le (\ge) w^{1+\beta} f(w)(\alpha - w) & \text{in } \Omega \times (T, +\infty), \\ \frac{\partial w}{\partial \nu} = 0 & \text{on } \partial \Omega \times (T, +\infty), \end{cases}$$

where  $\alpha > 0$  is a constant, we have

$$\limsup_{t \to +\infty} \max_{\bar{\Omega}} w(\cdot, t) \leq \alpha \quad (\liminf_{t \to +\infty} \min_{\bar{\Omega}} w(\cdot, t) \geq \alpha).$$

JUN ZHOU

(2) If w satisfies

$$\begin{cases} \frac{\partial w}{\partial t} - d\Delta w \le w^{1+\beta} f(w)(\alpha - w) & \text{in } \Omega \times (T, +\infty) \\ \frac{\partial w}{\partial \nu} = 0 & \text{on } \partial \Omega \times (T, +\infty), \end{cases}$$

where  $\alpha \leq 0$  is a constant, we have

$$\limsup_{t\to+\infty} \max_{\bar{\Omega}} w(\cdot,t) \leq 0.$$

Now, we can prove Theorem 2.1.

Proof of Theorem 2.1. Throughout the proof,  $(1.1)_u$  means the equation satisfying by u in (1.1) and  $(1.1)_{v_i}$  means the equation satisfying by  $v_i$  in (1.1). By  $(1.1)_u$ , we obtain  $u_t - d_0 \Delta u \leq u(1 - ku)$ . So, by virtue of Lemma 2.2, we obtain

(2.3) 
$$\limsup_{t \to +\infty} \max_{\bar{\Omega}} u(\cdot, t) \le \frac{1}{k} := \bar{u}^{(1)}.$$

So, for any  $\epsilon > 0$ , there exists  $T_1^{\epsilon} \gg 1$  such that  $u(x,t) \leq \bar{u}^{(1)} + \epsilon$  for any  $x \in \bar{\Omega}$ and  $t \geq T_1^{\epsilon}$ . By  $(1.1)_{v_i}$  and for any  $(x,t) \in \Omega \times (T_1^{\epsilon}, +\infty)$ , we obtain

$$v_{it} - d_i \Delta v_i \le -a_i v_i + \frac{\alpha_i v_i (\bar{u}^{(1)} + \epsilon)}{\alpha_i v_i + (\bar{u}^{(1)} + \epsilon)} = v_i \left[ \frac{(\alpha_i - a_i)(\bar{u}^{(1)} + \epsilon) - a_i \alpha_i v_i}{\alpha_i v_i + (\bar{u}^{(1)} + \epsilon)} \right].$$

By Lemma 2.2, we have  $\limsup_{t\to+\infty} \max_{\bar{\Omega}} v_i(\cdot, t) \leq \frac{(\alpha_i - a_i)(\bar{u}^{(1)} + \epsilon)}{a_i \alpha_i}$ . By the arbitrariness of  $\epsilon > 0$ , we obtain

(2.4) 
$$\limsup_{t \to +\infty} \max_{\overline{\Omega}} v_i(\cdot, t) \le \frac{(\alpha_i - a_i)\overline{u}^{(1)}}{a_i \alpha_i} := \overline{v}_i^{(1)}.$$

Direct computation implies

(2.5) 
$$n+1 > \sum_{i=1}^{n} \frac{\alpha_i}{a_i} \Rightarrow \frac{1}{k} > \sum_{i=1}^{n} \alpha_i \bar{v}_i^{(1)}.$$

So, (H2) and (2.5) implies there exists  $\epsilon_0 > 0$  such that for  $\epsilon \in (0, \epsilon_0], 1/k > \sum_{i=1}^n \alpha_i(\bar{v}_i^{(1)} + \epsilon)$  and there exists  $T_2^{\epsilon} \gg 1$  such that for any  $(x, t) \in \bar{\Omega} \times [T_2^{\epsilon}, +\infty), v_i(x, t) \leq \bar{v}_i^{(1)} + \epsilon$ . Then by  $(1.1)_u$  and for any  $(x, t) \in \Omega \times (T_2^{\epsilon}, +\infty)$ , we obtain

$$u_{t} - d_{0}\Delta u \geq u^{2} \left( \frac{1}{u + \sum_{i=1}^{n} \alpha_{i}(\bar{v}_{i}^{(1)} + \epsilon)} - k \right)$$
  
=  $u^{2} \left[ \frac{1 - k \sum_{i=1}^{n} \alpha_{i}(\bar{v}_{i}^{(1)} + \epsilon) - ku}{u + \sum_{i=1}^{n} \alpha_{i}(\bar{v}_{i}^{(1)} + \epsilon)} \right].$ 

By Lemma 2.2, we obtain  $\liminf_{t \to +\infty} \min_{\bar{\Omega}} u(\cdot, t) \geq \frac{1}{k} - \sum_{i=1}^{n} \alpha_i(\bar{v}_i^{(1)} + \epsilon)$ . By the arbitrariness of  $\epsilon \in (0, \epsilon_0]$ , we obtain

(2.6) 
$$\liminf_{t \to +\infty} \min_{\overline{\Omega}} u(\cdot, t) \ge \frac{1}{k} - \sum_{i=1}^{n} \alpha_i \overline{v}_i^{(1)} := \underline{u}^{(1)} > 0.$$

So for any  $\epsilon \in (0, \underline{u}^{(1)})$ , there exists  $T_3^{\epsilon} >> 1$  such that for any  $(x, t) \in \overline{\Omega} \times$  $[T_3^{\epsilon}, +\infty), u(x,t) \geq \underline{u}^{(1)} - \epsilon$ . Then by  $(1.1)_{v_i}$  and for any  $(x,t) \in \Omega \times (T_3^{\epsilon}, +\infty)$ , we obtain

$$v_{it} - d_i \Delta v_i \ge -a_i v_i + \frac{\alpha_i v_i(\underline{u}^{(1)} - \epsilon)}{\alpha_i v_i + (\underline{u}^{(1)} - \epsilon)} = v_i \left[ \frac{(\alpha_i - a_i)(\underline{u}^{(1)} - \epsilon) - a_i \alpha_i v_i}{\alpha_i v_i + (\underline{u}^{(1)} - \epsilon)} \right].$$

By Lemma 2.2, we have  $\liminf_{t\to+\infty} v_i(\cdot,t) \geq \frac{(\alpha_i-a_i)(\underline{u}^{(1)}-\epsilon)}{a_i\alpha_i}$ . By the arbitrariness of  $\epsilon \in (0, u^{(1)})$ , we have

(2.7) 
$$\liminf_{t \to +\infty} \min_{\overline{\Omega}} v_i(\cdot, t) \ge \frac{(\alpha_i - a_i)\underline{u}^{(1)}}{a_i \alpha_i} := \underline{v}_i^{(1)} > 0.$$

By (2.3) and (2.6), we have (2.1) and, by (2.4) and (2.7), we have (2.2). The proof is completed. 

# 3. Global stability of the positive constant steady state $\tilde{U}$

The main concern of this section is to prove the global stability of  $\hat{U}$  defined in (1.4). The main result is as follows.

**Theorem 3.1.** If (H1) and (H2) hold, then the positive constant steady state U of problem (1.1) defined in (1.4) is globally asymptotically stable.

Proof. In order to prove the theorem, we will use basically the method of upper and lower solutions combined with the monotone iterative method. More concretely, if we can construct 2n + 2 sequences, namely  $\{\bar{u}^{(j)}\}_{j=1}^{+\infty}, \{\underline{u}^{(j)}\}_{j=1}^{+\infty}, \underline{u}^{(j)}\}_{j=1}^{+\infty}, \{\underline{u}^{(j)}\}_{j=1}^{+\infty}, \underline{u}^{(j)}\}_{j=1}^{+\infty}, \{\underline{u}^{(j)}\}_{j=1}^{+\infty}, \underline{u}^{(j)}\}_{j=1}^{+\infty}, \underline{u}^{(j)}\}_{j=1}^{+\infty}, \underline{u}^{(j)}}_{j=1}^{+\infty}, \underline{u}^{(j)}}_{j=1}^{+\infty}, \underline{u}^{(j)}_{j=1}^{+\infty}, \underline{u}^{(j)}_{j=1}^{+\infty}$  $\{\bar{v}_i^{(j)}\}_{j=1}^{+\infty}, \{\underline{v}_i^{(j)}\}_{j=1}^{+\infty}$  for  $i = 1, \ldots, n$ , which satisfy the following properties:

- i)  $\underline{u}^{(j)} \leq \liminf_{t \to +\infty} \min_{\bar{\Omega}} u(\cdot, t) \leq u(x, t) \leq \limsup_{t \to +\infty} \max_{\bar{\Omega}} u(\cdot, t)$  $\leq \bar{u}^{(j)}, \ j = 1, 2, \dots,$
- ii)  $\underline{v}_i^{(j)} \leq \liminf_{t \to +\infty} \min_{\bar{\Omega}} v_i(\cdot, t) \leq v_i(x, t) \leq \limsup_{t \to +\infty} \max_{\bar{\Omega}} v_i(\cdot, t)$  $\begin{aligned} & \leq \bar{v}_i^{(j)}, \ i = 1, \dots, n, \ j = 1, 2, \dots, \\ & \text{iii)} \ \{ \bar{u}^{(j)} \}_{j=1}^{+\infty} \text{ and } \{ \bar{v}_i^{(j)} \}_{j=1}^{+\infty} \text{ are nonincreasing in } j \text{ for } i = 1, \dots, n, \end{aligned}$
- iv)  $\{\underline{u}^{(j)}\}_{j=1}^{+\infty}$  and  $\{\underline{v}_i^{(j)}\}_{j=1}^{+\infty}$  are nondecreasing in j for  $i = 1, \ldots, n$ ,
- v)  $\lim_{j \to +\infty} \bar{u}^{(j)} = \tilde{u} = \lim_{j \to +\infty} \underline{u}^{(j)}$  and  $\lim_{j \to +\infty} \bar{v}_i^{(j)} = \tilde{v}_i = \lim_{j \to +\infty} \underline{v}_i^{(j)}$ for  $i = 1, \ldots, n$ ,

then we obtain Theorem 3.1. So, in the following, our task is to construct the sequences which satisfy i)-v).

Let  $\phi(s_1, \ldots, s_n) = 1/k - \sum_{i=1}^n \alpha_i s_i$  and  $\psi_i(s) = \frac{\alpha_i - \alpha_i}{a_i \alpha_i} s$ , where  $s, s_1, \ldots, s_n \in (0, +\infty)$  and  $i = 1, \ldots, n$ . It is easy to see that  $\frac{\partial \phi}{\partial s_i} < 0$  and  $\psi'_i(s) > 0$ .

Then we construct the sequences  $\{\overline{u}^{(j)}\}_{j=1}^{+\infty}$ ,  $\{\underline{u}^{(j)}\}_{j=1}^{+\infty}$ ,  $\{\overline{v}_i^{(j)}\}_{j=1}^{+\infty}$ ,  $\{\underline{v}_i^{(j)}\}_{j=1}^{+\infty}$ ,  $\{\underline{v}_i^{(j)}\}_{j=1}^{+\infty}$  as follows:

$$\begin{split} \bar{u}^{(1)} &= \frac{1}{k}, \quad \bar{v}_i^{(1)} = \frac{(\alpha_i - a_i)\bar{u}^{(1)}}{a_i\alpha_i}, \quad i = 1, \dots, n, \\ \underline{u}^{(1)} &= \frac{1}{k} - \sum_{i=1}^n \alpha_i \bar{v}_i^{(1)}, \quad \underline{v}_i^{(1)} = \frac{(\alpha_i - a_i)\underline{u}^{(1)}}{a_i\alpha_i}, \quad i = 1, \dots, n, \\ \bar{u}^{(j+1)} &= \phi(\underline{v}_1^{(j)}, \dots, \underline{v}_n^{(j)}), \quad j = 1, 2, \dots, \quad \bar{v}_i^{(j)} = \psi_i(\bar{u}^{(j)}), \quad i = 1, \dots, n, \quad j = 2, \dots \\ \underline{u}^{(j)} &= \phi(\bar{v}_1^{(j)}, \dots, \bar{v}_n^{(j)}), \quad j = 1, 2, \dots, \quad \underline{v}_i^{(j)} = \psi_i(\underline{u}^{(j)}), \quad i = 1, \dots, n, \quad j = 2, \dots \end{split}$$

First, we prove the sequences  $\{\bar{u}^{(j)}\}_{j=1}^{+\infty}, \{\underline{u}^{(j)}\}_{j=1}^{+\infty}, \{\overline{v}_i^{(j)}\}_{j=1}^{+\infty}, \{\underline{v}_i^{(j)}\}_{j=1}^{+\infty}$  satisfy i) and ii) by induction. By Theorem 2.1, we obtain i) and ii) hold for j = 1, then we assume i) and ii) hold for j = m > 1. Since  $\liminf_{t \to +\infty} \min_{\bar{\Omega}} v_i(\cdot, t) \geq \underline{v}_i^{(m)} > 0$ , then for any  $\epsilon \in (0, \underline{v}_i^{(m)})$ , there exists  $\hat{T}_1^{\epsilon} >> 1$  such that  $v_i(x, t) \geq \underline{v}_i^{(m)} - \epsilon$  for any  $(x, t) \in \bar{\Omega} \times [\hat{T}_1^{\epsilon}, +\infty)$ . Then by  $(1.1)_u$  and for any  $(x, t) \in \Omega \times (\hat{T}_1^{\epsilon}, +\infty)$ , we have

$$u_t - d_0 \Delta u \le u^2 \left( \frac{1}{u + \sum_{i=1}^n \alpha_i(\underline{v}_i^{(m)} - \epsilon)} - k \right)$$
$$= u^2 \left[ \frac{1 - k \sum_{i=1}^n \alpha_i(\underline{v}_i^{(m)} - \epsilon) - ku}{u + \sum_{i=1}^n \alpha_i(\underline{v}_i^{(m)} - \epsilon)} \right].$$

By Lemma 2.2 and arbitrariness of  $\epsilon$ , we obtain  $\limsup_{t \to +\infty} \max_{\bar{\Omega}} u(\cdot, t) \leq 1/k - \sum_{i=1}^{n} \alpha_i \underline{v}_i^{(m)} = \bar{u}^{(m+1)}$ . Then repeat the proof of Theorem 2.1 by replace  $\bar{u}^{(1)}$  with  $\bar{u}^{(m+1)}$ , we can prove i) and ii) hold for j = m + 1.

Next, we will prove iii) and iv) hold by induction. Recall the monotone properties of  $\phi$  and  $\psi_i$ , we obtain  $\bar{v}_i^{(2)} = \psi_i(\bar{u}^{(2)}) < \psi_i(\bar{u}^{(1)}) = \bar{v}_i^{(1)}$  since  $\bar{u}^{(2)} < \bar{u}^{(1)}$ , and  $\underline{u}^{(2)} = \phi(\bar{v}_1^{(2)}, \dots, \bar{v}_n^{(2)}) > \phi(\bar{v}_1^{(1)}, \dots, \bar{v}_n^{(1)}) = \underline{u}^{(1)}$ , and  $\underline{v}_i^{(2)} = \psi_i(\underline{u}^{(2)}) > \psi_i(\underline{u}^{(1)}) = \underline{v}_i^{(1)}$ . Assume  $\bar{u}^{(m+1)} < \bar{u}^{(m)}$ ,  $\bar{v}_i^{(m+1)} < \bar{v}_i^{(m)}$ ,  $\underline{u}^{(m+1)} > \underline{u}^{(m)}$  and  $\underline{v}_i^{(m+1)} > \underline{v}_i^{(m)}$ , then repeat the above proof, we have  $\bar{u}^{(m+2)} < \bar{u}^{(m+1)}$ ,  $\bar{v}_i^{(m+2)} < \bar{v}_i^{(m+1)}$ ,  $\underline{u}^{(m+2)} > \underline{u}^{(m+1)}$  and  $\underline{v}_i^{(m+2)} > \underline{v}_i^{(m+1)}$ .

Finally, we prove v) holds. Assume  $\lim_{j\to+\infty} \underline{u}^{(j)} = \underline{u}$ ,  $\lim_{j\to+\infty} \underline{v}_i^{(j)} = \underline{v}_i$ ,  $\lim_{j\to+\infty} \overline{u}^{(j)} = \overline{u}$  and  $\lim_{j\to+\infty} \overline{v}_i^{(j)} = \overline{v}_i$ . It is obvious that  $0 < \underline{u} \leq \overline{u}$ ,  $0 < \underline{v}_i \leq \overline{v}_i$  and  $\underline{u}, \underline{v}_i, \overline{u}, \overline{v}_i$  satisfy

$$\underline{u} = \phi(\overline{v}_1, \dots, \overline{v}_n), \ \overline{u} = \phi(\underline{v}_1, \dots, \underline{v}_n), \ \underline{v}_i = \psi_i(\underline{u}), \ \overline{v}_i = \psi_i(\overline{u}), \ i = 1, \dots, n.$$

Obviously, (3.1) implies

$$(3.2) \quad \underline{u} = \frac{1}{k} - \sum_{i=1}^{n} \alpha_i \bar{v}_i, \ \bar{u} = \frac{1}{k} - \sum_{i=1}^{n} \alpha_i \underline{v}_i, \ \underline{v}_i = \frac{\alpha_i - a_i}{a_i \alpha_i} \underline{u}, \ \bar{v}_i = \frac{\alpha_i - a_i}{a_i \alpha_i} \bar{u}$$

By virtue of (3.2), we obtain

$$\underline{u} = \frac{1}{k} - \sum_{i=1}^{n} \frac{\alpha_i - a_i}{a_i} \bar{u}, \ \bar{u} = \frac{1}{k} - \sum_{i=1}^{n} \frac{\alpha_i - a_i}{a_i} \underline{u},$$

which implies  $(1 + n - \sum_{i=1}^{n} \alpha_i / a_i)(\bar{u} - \underline{u}) = 0$ , and we have  $\bar{u} = \underline{u}$  by (H2). Then we get  $\bar{v} = \underline{v}$  by (3.2). The proof is completed.

Acknowledgement. The authors would like to thank the referee for the careful reading of this paper and for the valuable suggestions that improved the presentation and style of the paper.

### References

- H. R. Acakaya, R. Arditi, and L. R. Ginzburg, Ratio-dependent prediction: an abstraction that works, Ecology 76 (1995), 995–1004.
- [2] S. Aly, I. Kim, and D. Sheen, Turing instability for a ratio-dependent predator-prey model with diffusion, Appl. Math. Comp. 217 (2011), no. 17, 7265–7281.
- [3] R. Arditi and A. A. Berryman, *The biological control paradox*, Trends Ecol. Evol. 6 (1991), 32.
- [4] R. Arditi, L. R. Ginzburg, and H. R. Akcakaya, Variation in plankton densities among lakes: a case for ratio-dependent models, Am. Nat. 138 (1991), 1287–1296.
- [5] M. Baurmann, T. Gross, and U. Feudel, Instabilities in spatially extended predator-prey systems: Spatio-temporal patterns in the neighborhood of Turing-Hopf bifurcations, J. Theoret. Biol. 245 (2007), no. 2, 220–229.
- [6] R. G. Casten and C. F. Holland, Stability properties of solutions to systems of reactiondiffusion equations, SIAM J. Appl. Math. 33 (1977), no. 2, 353–364.
- [7] C. Cosner, D. L. DeAngelis, J. S. Ault, and D. B. Olson, Effects of spatial grouping on the functional response of predators, Theor. Popul. Biol. 56 (1999), 65–75.
- [8] C. Duque, K. Kiss, and M. Lizana, On the dynamics of an n-dimensional ratiodependent predator-prey system with diffusion, Appl. Math. Comp. 208 (2009), no. 1, 98–105.
- C. Duque and M. Lizana, Global asymptotic stability of a ratio dependent predator prey system with diffusion and delay, Period. Math. Hungar. 56 (2008), no. 1, 11–23.
- [10] P. Grindrod, Patterns and Waves, Clarendon Press, Oxford, 1991.
- [11] K. Kiss, n-Dimensional ratio-dependent predator-prey systems with diffusion, Appl. Math. Comput. 205 (2008), no. 2, 325–335.
- [12] K. Kiss and Kovács, Qualitative behavior of n-dimensional ratio-dependent predatorprey systems, Appl. Math. Comp. 199 (2008), 535–546.
- [13] K. Kiss and J. Tóth, n-dimensional ratio-dependent predator-prey systems with memory, Diff. Equ. Dyn. Syst. 17 (2009), no. 1-2, 17–35.
- [14] B. Mukhopadhyay and R. Bhattacharyya, Modeling the role of diffusion coefficients on Turing instability in a reaction-diffusion prey-predator system, Bull. Math. Biol. 68 (2006), no. 2, 293–313.
- [15] A. Okubo and S. A. Levin, Diffusion and Ecological Problems: Modern Perspectives, Second ed., Springer, Berlin, 2000.
- [16] P. Y. H. Pang and M. X. Wang, Qualitative analysis of a ratio-dependent predator prey system with diffusion, Proc. Roy. Soc. Edinburgh Sect. A 133 (2003), no. 4, 919–942.
- [17] M. X. Wang and Peter Y. H. Pang, Global asymptotic stability of positive steady states of a diffusive ratio-dependent prey-predator model, Appl. Math. Lett. 21 (2008), no. 11, 1215–1220.

### JUN ZHOU

- [18] Q. X. Ye, Z. Y. Li, M. X. Wang, and Y. P. Wu, An Introduction to Reaction-Diffusion Equations, Second, edition (in chinese), Scientific Press, 2011.
- [19] J. Zhou and C. L. Mu, Coexistence states of a Holling type-II predator-prey system, J. Math. Anal. Appl. 369 (2010), no. 2, 555–563.
- [20] \_\_\_\_\_, Positive solutions for a three-trophic food chain model with diffusion and Beddington-Deangelis functional response, Nonlinear Anal. Real World Appl. 12 (2011), no. 2, 902–917.
- [21] \_\_\_\_\_, Coexistence of a diffusive predator-prey model with Holling type-II functional response and density dependent mortality, J. Math. Anal. Appl. 385 (2012), no. 2, 913–927.

SCHOOL OF MATHEMATICS AND STATISTICS SOUTHWEST UNIVERSITY CHONGQING, 400715, P. R. CHINA *E-mail address*: jzhou@swu.edu.cn